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I BEDE

1. RBVEE
HEES 2,113,613 2,124,843 A 11,230
RENEERE 2,113,613 2,124,843 A 11,230

2 BEEEE

(1) EREAE
TEEIFEE 3,012,000 3,012,000 0
EARMESE 3,012,000 3,012,000 0
()FEEE

HERILEE 23,573,056 23,573,056 0
HEEESE 23,573,056 23,573,056 0
BE&ESE 26,585,056 26,585,056 0
BESE 28,698,669 28,709,899 A 11,230
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1. $5E IEBREL 2

FitE 26,585,056 26,585,056 0
B ERRBI EE & & 26,585,056 26,585,056 0
OLERMEADFTEHEE) 3,012,000 3,012,000 0
OLBREEE~NDFTZHEE) 23,573,056 23,573,056 0
2. —RRIERRBAEE 2,113,613 2,124,843 A 11,230
OLEXRBE~DFTLE) 0 0 0
OLBEEE~DFTELE) 0 0 0
IERRBIEE & &T 28,698,669 28,709,899 A 11,230
BERVEKRMESE 28,698,669 28,709,899 A 11,230




